FR—

FUNERR—YISA SV IRRARFEAR

RILF—FER
. ABHEEARRHILEER

DaZT7BF TERIE
215 REMEHHERKRK—V I3 0505 —
202564128 ()

MR AR (11:28)

Bt 7 K4 hF i B1 B2 B3 B4 B5 B6 R B1 B2 B3 B4 B5 B6
1 M201 iRkl FEx TEYT Ft  RATIALE=RER 25 25 25 25 25i 24.6] 149.6] T1 21 iT1 z1iT1 z1iT1 z1i T1 z1:i 75 z3
2 N210 &HT BER Y& ) ax FBFPER 25 25 25; 24.9 25 9.9] 134.8) T1z1 i T1 z1{ T1 z1: T2 z2: T1 z1 z2
3 M213 FiE BEa AN TA4 HERER 25 25 25: 24.9 25 O 12491 T1z1:T1 z1i T1 z1: 72 z2: T1 z1
4 M225 (KEF BEAER v/ Uav4aoy HERIEAGER 25 25 25 25i 9.8 10 119.8) T1z1 i T1 z1: T1 z1: T1 z1 z3 z1
5 M202 mEE ME IVRD VY BERIGAFEE 25 25 25 25: 9.9 of 109.9) T1z1:{T1 z1{T1 z1:{ T1 z1 72
5 N204 iKit 2= FHay 7H4 RPTLARRER 25 258 24.9 25 10 Of 109.9] T1z1:{T1 z1i T2 z2: T1 z1 z1
7 N203 iFHR & ANT 7L REETILIECNER 25 25i 24.9 25 9.9 O 109.8]T1z1:iT1 z1iT2 z1:T1 z1 z2
7 M207 LI 1&A XIYEX 27~ iIBRAEAFER 25 25 25 25 9.8 O 109.8] T1z1:T1 z1:iT1 z1: 11 z1 z3
9 M209 ¥l FOFk TYNT ARXTF ABINER 25 25; 24.6 25 10 O] 109.6] T1z1:T1 z1: T5 z4: T1 z1 z1
10 M212 k& K— FTAHY Z4F INTILE=FFER 25 25; 24.9: 24.9 0 0 99.8] T1z1: T1 z1: T2 z2: T2 z1
1 N214 HHE B N4 L TEO i AHAFRERER 25 25 25 10 10 0 95 T1z1:iT1 z1: T1 z1 z1 z1
12 M205 i{EiE IH—ER Y a4 FOaw 25 25 25 10 0 0 85 T1z1:iT1 z1: T1 z1 z1
12 M219 iR BE ATE R NLT FRETILEZ/IER 25 25 0 25 10 0 85) T1 21 T1 z1 T z1 z1
12 M226 i@&E BIKER oU4 hrsaow SAmTIE=ER 25 25 25 0 10 0 85 T1z1:iT1 z1: T1 z1 z1
12 N228 =g AL SYHEX LS HEBLZEFEREER 25 25 0 25 10 0 85] T1z1: T1 z1 T z1 z1
16 M206 iFRiX 1KE 72308 NILT AR ER 25 25; 24.8 10 0 0 84.8] T1z1: T1 z1: T3 z2 z1
16 M223 {EH RE P22 VYO L UV IBBEIRIEIEE—/NER 25 25 0 25 9.8 0 84.8] T1 z1 i T1 z1 T z1 z3
18 N208 (KA izt FHvE 4o/ 24 25 25 10 10 10 0 80] T1z1 i T1 z1 z1 z1 z1
19 M220 Rk EE A4 k2 NILR 25 25 0 25 0 0 BT z1 i 11 z1 T z1
20 M211 & BRLEl o4z vosay INERFEZINER 25 25 0i 24.9 0 0 749 T z1: T1 z1 T2 22
21 M215 iZR)Il HEZE EUVAT VY EFINER 25 25 0: 24.8 0 0 74.8] T1 21 : T1 z1 13 22
22 M222 (BRIl FnE NYHT hXTIRE 25 25 0 10 10 0 700 T1 21§ T1 z1 z1 z1




FUNERR—YISA SV IRRARFEAR

RILF—FER
T AR ARRBLEES

2025%F4A128 (L)

DiZT7BF FEMKR
215 REMEMBRA—YI 5/ T2 58—

MR AR (11:28)

W 7T KA h¥ il Bl . B2 B3 B4 B5  B6 | m# | BT B2 B3 B4 B5  BG
23 M216 it a3 ¥ a9 AR 25 24.9 10 10 0 0 69.9] T1 z1: T2 z2 z1 z1

24 M221 HEARK HHE (HHYF 207 HEFE=HER 25 25 0 10 0 0 60] T1 z1 : T1 21 z1

25 M227 iR EERE Fhar 3L+ FEKINER 25 25 0 9.8 0 0 59.8] T1 z1 : T1 z1 z3

26 N217 5 oF ¥ OF AGBINEAR 25 25 0 0 0 0 500 T1z1: T1 z1

26 N224 HEARK B 9% A Pa BRI REET/NER 25 25 0 0 0 500 T1 21§ T1 z1

28 M229 G BRZAr 474 var/Ry 25 24.8 0 0 0 0 49.8] T1 z1 § T3 z1

20 | 218 fEEE RE YR TAKY SEMILLENER 25 97 0o 0o o o 3a7|Tizl  z4

FHEEHE EBREE

A=< ...?'m




